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1 |wxl % | aNT | = | 400 % | aNT | +2 | 460 2
2 Fadb ik 3NT -1 -100 2] 5C = 600 12
3 | 2] 3NT = 400 ] 2Dx -2 500 3
4 gl v 5D | -1 | 100 | 5D = | 600 | 12
5 Fadb i} 3NTx | -1 100 ] 2NT +3 | -210 7
6 | z#mw| & | sex | -2 | -100| w5 | 4as | = | 620 | 11
7 |\l | 2n | 2| 200 4 | 21 | 2 | -200
8 |wxr| w 7s | = | 1510 6C | +1 | 940 | 11
9 |%mwl % | aNT | -2 | 100 | % 5D | -1 | 100
10 | s | i 4s | +1 | 650 | 4s | +1 | 650
12 |kl % | a0 | 2 | 100 95 | 4sx | = | 590 | 10
12 gkl & | 4s | = | 620 % | 4s | = | 620
13wl % | 31 | 2| 200 % | 2H | +1 | ;140 6
14 | e | % 23 = | -110 | 2s = | -110
15 | gkl 4 | onT | +2 | 150 | #w | 4sx | -3 | 500 8
16 | &1 ik 3NT -1 -50 Jt 3NT +1 430 10
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o | met | x| e | em | ws | mx | oms | am | s | T RS
1 |kl % | aNT | +3 | -490 | % | BNT | +3 | -490
2 | @kl &£ | 3BNT | +2 | 660 | Jt | 3NT | +2 | 660
3 b Y] 1t 4H = 420 [E7] 4H = 420
4 || v 5D = | -600 | 7 5D | -1 | 100 12
5 [mik|l w | 3NT | -1 | 50 i | 3NT | -1 | 50
6 || ¥ | 5Hx | -2 | 300 | ® | B5Hx | -1 | -100 5
7 | wH LL PAS i 5Cx | -1 | 200 5
8 | Xkl 1t 6C +1 | 940 7] 7S = | 1510 11
9 [%w| # | 3NT | -1 | 100 | 7 5D | -1 | 100
10 || ® 4s | +1 | 650 | ® 4s | +1 | 650
11 | wkE| ® | 4Hx | 2 | -300 | 3H | -1 | -50 6
12 | mde | e 5 | -1 | -100| % | 5Hx | -4 | 800 14
13 | | % 3H | -1 | 100 | % 2H | +1 | -140 ]| 6
14 | wk | % 2s | -1 | 50 % 5C | -3 | 150 3
15 | mde| ® | 4Dx | -1 | -200 | 4H = | 620 13
16 | Z&74 [£4] 3NT +2 460 1t 3NT +1 430 1
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1 | el 3c | = | 120 % | 3NT | +3 | 490 9
2 | mdk [iif} 3S -1 50 Jt 3NT -1 -100 4
3 i 2] 4H = 420 2] 4H = 420
4 |l % 5D | = | -600 | 7 5D | = | -600
5 Fadb ] 3NT -2 100 ] 3NT -1 50 2
6 | x| 7 55 | -1 | 100 | % as | = | 620 | 12
7 |l W 2D | +1 | 110 | 2H = | 110
8 |[wxl 7s | = | 1510 ® 7s | = | 1510
9 | %mwl % | aNT | -2 | 100 | 4H | -2 | 200 3
10 |wsl &5 | 4as | = | 620 w5 | s¢ | = | e00 | 1
11 | wel & 3H | -1 | 50 | ® 4H | 2 | -100 ] 2
12 |kl & as | = | 620 | 6C | -1 | -100 | 12
13 |ses | % | aNT | -2 | 100 | % 2H | = | 210 | s
14 {wrel &% | 3H | 2| 0 % | 3H | -1 | 50
15 | gde | ac | 2 | 100 | ® 3H = | 140 1
16 | &1 ik 3NT -1 -50 2] 3NT = 400 10
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I 558/ 5 L5 A B/ H AR V.P. 17.17 | 2.83




SSRGS

518 %45 20144:8J124H
13 RYE (&) VS 6 FHE=E
= M=

KA G0 oI oI KIEGartt)

T K REZ T e

e U i AR i W% . A

o | me | x| e | em | s | mx | oms | em | s | T B
1 |kl % | aNT | +3 | 490 | % | 3NT | +1 | -430 2
2 Fadb ik 3NT +2 660 Jt 3NT +2 660
3 | ik 4H = 420 2] 4H = 420
a |wgl % | snT | 2 | 200 | % sc | = | 600 | 13
5 Fadb i} 3NT -2 100 ] 3NT -1 50 2
6 K4 [E7] 5H -2 -100 ik 5Cx -1 -100
7 lseml | 2n | = | 110 w | s¢ | 2 | 200 3
8 |wrl| & 7s | = | 1510 6c | = | 920 | 11
9 | i} 4H -2 200 i} 3NT = -600 13
10 | s | i 4s | +1 | 650 | 4s | +1 | 650
11 |kl w | 4H | 2 | 1200 % | 4H | 2 | -100
12 | #dkl w | sHx | -4 | 800 | 4s | 12 | ‘100 | 14
13 | sl i | aNT | -2 | 200 ] % | 3NT | -1 | 100
14 | sk | 2s | -1 | 50 ol 2s | -1 | 50
15 | wml % 2s | = | 120 | % 2s | -1 | 50 4
16 | &1 [E7] 3NT +3 490 2] 3NT = 400 3
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1 | xel 3C +3 | -170 7R 3NT | +2 | -460 7
2 ik 1t 3NT +2 660 7 4S -2 100 11
3 | &l 4H = 420 3] 4H +1 | 450 1
4 | wul b 2sx | -2 | -500 | % 5C = | -600 3
5 | gdel 2NT = | -120 i} 2NT | +2 | -180 2
6 Y] 7 6SXx -2 500 7 4S +1 -650 15
7 | wH)| e 3s = 140 5] 2H -1 | -100 6
8 | wrEl w 7S = | 1510 | & 7S = | 1510
9 | %mwl % 3NT | = | -600 % 3NT | -1 100 12
10 | s | o 6S -1 | -100 | it 4S +1 | 650 13
11 [ k| w 2H +1 | 140 3] 3H -1 -50 5
12 | &kl 5Hx | -4 | 800 5] 4S = 620 5
13 [ wE | % 4H -2 200 7K 2H +1 | -140 8
14 | wrel 2S -1 50 5] 2H = 110 2
15 | mdel % 2S -1 50 % 3S -1 50
16 | | 3NT = 400 5] 3NT = 400
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1 | wEl % 3D +1 | -130 | 74 3NT | +1 | -430 7
2 ik [E7] 3NT +2 660 1t 3NT -1 -100 13
3 | xmwl w5 4aH -2 | -100 5] 3NT | = 400 11
4 |xwal % 5C = | -600 | % 5D -1 | 100 12
5 ik 7 3NT -2 100 7 3NT -2 100
6 i) 1t 5C -1 -50 4S +2 -680 12
7 |wsml & 2H +1 | 140 7 6C -1 | 100 1
8 | x|l % 1Hx | -4 | 800 ] 7S = | 1510 12
o | %l #%* 5D -2 | 200 % 3NT | -1 | 100 3
10 |xwea |l 4S +1 | 650 ] 4S +1 | 650
112 {wkl & | sSNT | -3 | -150 ) 5 2S = 110 6
12 | ikl 6 | 3NT | = 600 ] 4S = 620 1
13 | wr | % 3H = | -140 il 4S -1 | 100 6
14 | el 2H = 110 75 2S = | -110 6
15 | gk | % 4Sx | -2 | 300 5] AHx | -1 | -200 | 11
16 | =74 1t 3NT = 400 [E7] 3NT +1 430 1
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